[ Efficiency vs vertpos |
~ 0.05

9.045
4
20.04
(8]
$.035
[
£0.03
0.025
0.02
0.015
0.04
0.005

Ratio

1072 10 1 10 0?
TP vertr (cr%)

—=— DQM_mKFit_TT_base

Effici —e— DQM_mKFit_TT_retrain
ICIeNd __,__ DQM_mkFit_TT_retrain_noCandDNN

~ 0.1

L (6 SRS S B S

® = : : , .
> 0,08 ---ebeer{edeeeeees PR | s
) o : N B . .
2 E : : : : :
C0.07Fwoebeeefrrf s —
(8] - . K : :
£ 0.06------ FEETEY (PN SEPEPRR
© E : : : :
001 SRR S . SRR S
0.04F ++-wbeeeefeefeeene S
0.08F oo { ol oo 1
= : . : :
e S I 1 R R |
.01+ }u-ug.Hui.".:.
o ! +* :

R S i

0.8F-----

Ratio

Y SR SO Y

10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.05
>

00.045
1S : : : :
| S
2.035f- - et
P : : : :
€ 0.03F------ A
o : : : :
D025 oofreeer e
9} : : : :
0.02f -y fieeseeefreessnecfoenens b
0.0a8fp- | Ffoonionni] - fo
0.0% |-t H T
0.005 ; ;

q |-|--|-| i als

Ratio

R B 0

10 15 20
Sim. PV z (cm)



	Contents
	Page 1


